MEMORANDUM

TO:

Whitney Alexander

FROM:

Justin Jones, Juvenile Bureau Director

DATE:

January 8, 2019

RE:

Request to have items placed on BOCC agenda for approval

18/2019

Please see the attached purchase order request for furniture from Oklahoma Correctional Industries, to be placed in the new Family Center for Juvenile Justice. The purchase will be made with funds set aside in the construction budget for FF&E.

Thank you,

JJ

PURCHASE ORDER REQUEST FORM

Date: <u>12/20/2018</u>	Requested by: Rosemary Brown
Department Name Juvenile Bureau	Dept. Supervisor Approval: Justin Jones
Vendor: Oklahoma Correctional Industries	
Address: Vendor number 5364	
Contact Person: Bob Tomlinson	Phone No.: 1-405-826-2630
	Fax No.:

Description	Commodity Code #	Qty.	Unit Price	Total Item cost
Various furniture for FCJJ				\$475,000

Other Requirements for Purchase: Attach as	noodod			0
Under \$2500 - No additional quote needed	s needed	Shippi	ng Costs	U
:2500-\$5000 - At least two written quotes must be attache	d Item	Other Charges		0
		Total (Charges	\$475,000

CHECKLIST & INFORMATION

Complete Purchase Order Request Form.

ALL INFORMATION IS NEEDED.

- 1 If you have not purchased from the Vendor before, check with Christine to see if they are already on the list. If not on Vendor list, forms will need to be faxed to the company. See Christine for forms to be used.
- 2 All bid items have a CC#, if not on a bid, leave blank. If not sure about the bid, call Christine for information.
- 3 Most common missing information is which account is covering the charge.
- 4 Please do not submit a request to purchase without all required information.

Grand Total	\$ 456,585.52
2nd Floor Court B	\$ 55,251.70
2nd Floor Court A	\$ 37,739.87
1st Floor Housing B	\$ 17,384.67
1st Floor Housing A	\$ 58,886.59
1st Floor Court B	\$ 142,273.57
1st Floor Court A	\$ 145,049.12

Note: All wood furniture colors to be "Stone" unless otherwise noted.

All metal shelving to be "Grey" unless otherwise noted

Tulsa Board of County Commissioners

E201.1 - 1st Floor Court A - Direct Purchase Price Breakdown by Office

Office Number	Furniture	Qty.	Cost Each	Cost Total
C1012	Reception Area with Counter Tops	1	\$2,442.14	
Reception	Maximus Chair CHMXCH	2	\$452.77	\$905.54
C1013	Delta Conference Table 96"x48" - OFDTTB48965	1	\$720.82	\$720.82
Work Room	MVP Task Chair	8	\$158.00	\$1,264.00
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.38
	Maximus Chair CHMXCH	1	\$452.77	\$452.77
C1014 Coordinator Office	MVP Side Chair	2	\$166.00	\$332.00
	Eclipse end Table OFECET8	1	\$161.86	\$161.86
	14x36x60 Bookcase w/4 Adjustable Shelves - 42547143660	2	\$751.75	\$1,503.50
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.38
	Maximus Chair CHMXCH	1	\$452.77	\$452.77
C1015 Coordinator Office	MVP Side Chair	2	\$166.00	\$332.00
	Eclipse end Table OFECET8	1	\$161.86	\$161.86
	14x36x60 Bookcase w/4 Adjustable Shelves - 42547143660	2	\$751.75	\$1,503.50
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.38
	Maximus Chair CHMXCH	1	\$452.77	\$452.77
C1016 Coordination Office	MVP Side Chair	6	\$166.00	\$996.00
	Eclipse end Table OFECET8	1	\$161.86	\$161.86
	42" Single Pedestal Wood Base Table - OFOTSPRD425	1	\$213.40	\$213.40
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.38
	Maximus Chair CHMXCH	1	\$452.77	\$452.77
C1017 Coordinator Office	MVP Side Chair	6	\$166.00	\$996.00
	Eclipse end Table OFECET8	1	\$161.86	\$161.86
	42" Single Pedestal Wood Base Table - OFOTSPRD425	1	\$213.40	\$213.40

	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.
01010	Maximus Chair CHMXCH	1	\$452.77	\$452.
C1019 Assist. Director	MVP Side Chair	6	\$166.00	\$996.0
	Eclipse end Table OFECET8	1	\$161.86	\$161.8
	42" Single Pedestal Wood Base Table - OFOTSPRD425	1	\$213.40	\$213.4
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.3
	Maximus Chair CHMXCH	1	\$452.77	\$452.7
C1020 Probation Super	MVP Side Chair	6	\$166.00	\$996.0
	Eclipse end Table OFECET8	1	\$161.86	\$161.8
	42" Single Pedestal Wood Base Table - OFOTSPRD425	1	\$213.40	\$213.4
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1022 Probation Office 1	Maximus Chair CHMXCH	1	\$452.77	\$452.7
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1023 Probation Office 2	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1024 Probation Office 3	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1025 Probation Office 6	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1026 Probation Office 5	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1027 Probation Office 4	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00

C1028	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,49
Probation Office 7	Maximus Chair CHMXCH	1	\$452.77	\$45
	MVP Side Chair	3	\$166.00	\$49
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,49
C1030 Probation Office 9	Maximus Chair CHMXCH	1	\$452.77	\$45
	MVP Side Chair	3	\$166.00	\$498
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498
C1031 robation Office 10	Maximus Chair CHMXCH	1	\$452.77	\$452
	MVP Side Chair	3	\$166.00	\$498
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498
C1032 robation Office 11	Maximus Chair CHMXCH	1	\$452.77	\$452
	MVP Side Chair	3	\$166.00	\$498
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498
C1033 robation Office 12	Maximus Chair CHMXCH	1	\$452.77	\$452
	MVP Side Chair	3	\$166.00	\$498
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498
C1034 robation Office 8	Maximus Chair CHMXCH	1	\$452.77	\$452.
	MVP Side Chair	3	\$166.00	\$498.
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.
C1035 obation Office 13	Maximus Chair CHMXCH	1	\$452.77	\$452.
	MVP Side Chair	3	\$166.00	\$498.

,

	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.3
C1036 Probation Office 14	Maximus Chair CHMXCH	1	\$452.77	\$452.7
	MVP Side Chair	3	\$166.00	\$498.0
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.3
C1038 Probation Office 15	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1039 Probation Office 16	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1040 Probation Office 17	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1041 Probation Office 18	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1043 Intake Staff 14	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1044 Intake Staff 13	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1046 Intake Staff 12	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00

C1047	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.3
Intake Staff 11	Maximus Chair CHMXCH	1	\$452.77	\$452.7
	MVP Side Chair	3	\$166.00	\$498.0
C1075 Storage	36" x 18" x 75" Open Shelving MFMSOS36187506	20	\$160.00	\$3,200.0
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.3
	Maximus Chair CHMXCH	1	\$452.77	\$452.7
C1130 Director's Office	36"x72" Table - OF8183672CONF	1	\$448.33	\$448.3
	MVP Side Chair	6	\$166.00	\$996.00
	14x36x60 Bookcase w/4 Adjustable Shelves - 42547143660	2	\$751.75	\$1,503.50
	84"L x 72" W x 64"H Station	1	\$2,815.85	\$2,815.85
C1131	Maximus Chair CHMXCH	1	\$452.77	\$452.77
Book Keeping	MVP Side Chair	2	\$166.00	\$332.00
	36" Free Stand Latera File 4 Drawer-Legal	5	\$618.52	\$3,092.60
	84"L x 72" W x 64"H Station	1	\$2,815.85	\$2,815.85
	Maximus Chair CHMXCH	1	\$452.77	\$452.77
C1132 CFO	MVP Side Chair	4	\$166.00	\$664.00
	Eclipse end Table OFECET8	1	\$161.86	\$161.86
	36" Free Stand Latera File 4 Drawer-Legal	2	\$618.52	\$1,237.04
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.38
	Maximus Chair CHMXCH	1	\$452.77	\$452.77
C1134 Fraining Coordinator	MVP Side Chair	4	\$166.00	\$664.00
	Eclipse end Table OFECET8	1	\$161.86	\$161.86
	14x36x60 Bookcase w/4 Adjustable Shelves - 42547143660	2	\$751.75	\$1,503.50
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.38
	Maximus Chair CHMXCH	1	\$452.77	\$452.77
C1135 Data Analyst	MVP Side Chair	4	\$166.00	\$664.00
	Eclipse end Table OFECET8	1	\$161.86	\$161.86
	14x36x60 Bookcase w/4 Adjustable Shelves - 42547143660	2	\$751.75	\$1,503.50

C1136				
Work Area				
C1137 Reception	Maximus Chair CHMXCH	1	\$452.77	\$452.77
C1138 Waiting	MVP Side Chairs	6	\$166.00	\$996.00
	Single Pedestal Wood Base Table - OFOTSPRD481	3	\$241.13	\$723.39
D1200 Break Room	Piper Stack Chair - CHSSINNASF	22	\$48.00	\$1,056.00
	Eclipse end Table OFECET8	1	\$161.86	\$161.86

Grand Total \$145,049.12

Tulsa Board of County Commissioners

E201.2 1st Floor Court B - Direct Purchase

Price Breakdown by Office

Office Number	Furniture	Qty.	Cost Each	Cost Total
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1048 Intake Staff 10	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
54040	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1049 Intake Staff 9	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
61050	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1050 Intake Staff 8	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1051 Intake Staff 7	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1052 Intake Staff 6	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
0105.	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1054 Intake Staff 5	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.33
C1055 Intake Staff 4	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00

C10F.C	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.
C1056 Intake Staff 3	Maximus Chair CHMXCH	1	\$452.77	\$452.
	MVP Side Chair	3	\$166.00	\$498.
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.
C1057 Intake Staff 2	Maximus Chair CHMXCH	1	\$452.77	\$452.
	MVP Side Chair	3	\$166.00	\$498.0
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.3
C1058 Intake Staff 1	Maximus Chair CHMXCH	1	\$452.77	\$452.7
	MVP Side Chair	3	\$166.00	\$498.0
C1060 Intake Super 1	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.3
	Maximus Chair CHMXCH	1	\$452.77	\$452.7
	MVP Side Chair	3	\$166.00	\$498.0
	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.3
C1061 Intake Super 2	Maximus Chair CHMXCH	1	\$452.77	\$452.7
	MVP Side Chair	3	\$166.00	\$498.0
	84"L x 72" W x 64"H Station w/ extra latera file	1	\$3,269.64	\$3,269.6
C1067	Maximus Chair CHMXCH	1	\$452.77	\$452.7
Office	MVP Side Chair	2	\$166.00	\$332.0
	14x36x60 Bookcase w/4 Adjustable Shelves - 42547143660	2	\$751.75	\$1,503.50
	84"L x 72" W x 64"H Station w/ extra latera file	1	\$3,269.64	\$3,269.64
C1068	Maximus Chair CHMXCH	1	\$452.77	\$452.77
Office	MVP Side Chair	2	\$166.00	\$332.00
	14x36x60 Bookcase w/4 Adjustable Shelves - 42547143660	2	\$751.75	\$1,503.50

	84"L x 72" W x 64"H Station w/ extra latera file	1	\$3,269.64	\$3,269.
C1070	Maximus Chair CHMXCH	1	\$452.77	\$452.
Office	MVP Side Chair	2	\$166.00	\$332.0
	14x36x60 Bookcase w/4 Adjustable Shelves - 42547143660	2	\$751.75	\$1,503.
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.3
C1078	Maximus Chair CHMXCH	1	\$452.77	\$452.7
IPC Office 1	MVP Side Chair	2	\$166.00	\$332.0
	36" Free Stand Lateral File 2 Drw	2	\$400.01	\$800.0
C1079	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.3
	Maximus Chair CHMXCH	1	\$452.77	\$452.7
IPC Office 2	MVP Side Chair	2	\$166.00	\$332.0
	36" Free Stand Lateral File 2 Drw	2	\$400.01	\$800.0
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.3
C1080	Maximus Chair CHMXCH	1	\$452.77	\$452.7
IPC Office 3	MVP Side Chair	2	\$166.00	\$332.00
	36" Free Stand Lateral File 2 Drw	2	\$400.01	\$800.02
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$1,255.52
C1082	Maximus Chair CHMXCH	1	\$452.77	\$1,255.52
IPC Office 4	MVP Side Chair	2	\$166.00	\$1,255.52
	36" Free Stand Lateral File 2 Drw	2	\$400.01	\$800.02
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$1,255.52
C1083	Maximus Chair CHMXCH	1	\$452.77	\$1,255.52
IPC Office 5	MVP Side Chair	2	\$166.00	\$1,255.52
	36" Free Stand Lateral File 2 Drw	2	\$400.01	\$800.02
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$1, <mark>255</mark> .52
C1084	Maximus Chair CHMXCH	1	\$452.77	\$1,255.52
Office 2	MVP Side Chair	2	\$166.00	\$1,255.52
	36" Free Stand Lateral File 2 Drw	2	\$400.01	\$800.02

	84"L x 72" W x 64"H Station	1	\$2,673.38	Ć4 055 -
C1086	Maximus Chair CHMXCH			\$1,255.
Office 1	150000000000000000000000000000000000000	1	\$452.77	\$1,255.5
	MVP Side Chair	2	\$166.00	\$1,255.5
	36" Free Stand Lateral File 2 Drw	2	\$400.01	\$800.0
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$1,255.5
C1087	Maximus Chair CHMXCH	1	\$452.77	\$1,255.5
DC Coordinator	MVP Side Chair	2	\$166.00	\$1,255.5
	36" Free Stand Lateral File 2 Drw	2	\$400.01	\$800.02
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$1,255.52
C1088	Maximus Chair CHMXCH	1	\$452.77	\$1,255.52
DC Case Mananger	MVP Side Chair	2	\$166.00	\$1,255.52
	36" Free Stand Lateral File 2 Drw	2	\$400.01	\$800.02
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.38
C1090 Bureau Program	Maximus Chair CHMXCH	1	\$452.77	\$452.77
Office 1	MVP Side Chair	2	\$166.00	\$332.00
	14x36x60 Bookcase w/4 Adjustable Shelves - 42547143660	2	\$751.75	\$1,503.50
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.38
C1091	Maximus Chair CHMXCH	1	\$452.77	\$452.77
Office 2	MVP Side Chair	2	\$166.00	\$332.00
	14x36x60 Bookcase w/4 Adjustable Shelves - 42547143660	2	\$751.75	\$1,503.50
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.38
C1092	Maximus Chair CHMXCH	1	\$452.77	\$452.77
Bureau Program Office 3	MVP Side Chair	2	\$166.00	\$332.00
	14x36x60 Bookcase w/4 Adjustable Shelves - 42547143660	2	\$751.75	\$1,503.50
	84"L x 72" W x 64"H Station	1	\$2,673.38	\$2,673.38
C1094	Maximus Chair CHMXCH	1	\$452.77	\$452.77
Bureau Program Office 4	MVP Side Chair	2	\$166.00	
	14x36x60 Bookcase w/4 Adjustable Shelves -	2	\$751.75	\$332.00

C1096	40" x 70" x 36" Cabinet Work Surface - OF800407036C	2	\$613.33	\$1,226.66
	17x70x36 Modular Shelving Unit	1	\$496.67	\$496.67
Mail Room	96" x 48" Delta Table - OFDTTB48965	1	\$720.82	\$720.82
	Mail Center 30-Slot 17" x 70" x 36" - 42551177036	3	\$684.04	\$2,052.12
C1099 Maintenance Storage	96" x 30" Cabinet Work Surface	3	\$1,125.00	\$3,375.00
/ Receiving	Maximus Chair CHMXCH	15	\$160.00	\$2,400.00
	Single Pedestal Wood Base Table - OFOTSPRD481	3	\$241.13	\$723.39
C1102	Piper Stack Chair - CHSSINNASF	36	\$48.00	\$1,728.00
All Staff Break Room	72" x 36" Delta Table - OFDTTB36724	3	\$549.69	\$1,649.07
	14x36x60 Bookcase w/4 Adjustable Shelves - 42547143660	10	\$751.75	\$7,517.50
C1116 Conference	MVP Task Chair	10	\$158.00	\$1,580.00
	Delta Conference Table 96"x48" - OFDTTB48965	1	\$720.82	\$720.82

Grand Total \$142,273.57

Tulsa Board of County Commissioners

E201.3 1st Floor Housing A - Direct Purchase

Price Breakdown by Office

Office Number	Furniture	Qty.	Cost Each	Cost Total
D.1000	96"L x 60"W x 64"H Station no File Cabinet	1	\$2,158.06	
D1228 ADMIN	Maximus Chair CHMXCH	1	\$452.77	\$452.7
	MVP Side Chair	2	\$166.00	\$332.00
	84"L x 72"W x 64"H Station	1	\$2,158.06	\$2,158.06
D1229 Asst Super	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	84"L x 72"W x 64"H Station	1	\$2,158.06	\$2,158.06
D1230 Asst Super	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60"W x 64"H Station	1	\$2,498.33	\$2,498.33
D1235 Program Manager	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60"W x 64"H Station	1	\$2,498.33	\$2,498.33
D1236 Accr Manager	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
AS 2 6 8	96"L x 60"W x 64"H Station	1	\$2,498.33	\$2,498.33
D1237 Train. Manager	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
D1239	12' x 4' Heritage Conference Table - Color "Stone"	1	\$915.00	\$915.00
Conference	MVP Task Chair	12	\$158.00	\$1,896.00

D1240	48" Single Pedestal Wood Base Table - Color "Stone"	1	\$241.13	\$241.:
Break Room	Piper Stack Chair - CHSSINNASF	6	\$48.00	\$288.0
	18" x 60" WS w/ Hutch	1	\$562.56	\$562.5
	Miller Executive Desk - Color "Stone"	1	\$792.00	\$792.0
D1248 Hearing Room	30" x 36" WS	1	\$197.47	\$197.4
	Maximus Chair CHMXCH	1	\$452.77	\$452.7
	MVP Side Chair	10	\$166.00	\$1,660.0
D1256	24"x72" Double Pedestal Table - Color "Stone"	2	\$157.75	\$315.5
Vol Work	Maximus Chair CHMXCH	2	\$452.77	\$905.5
D1268 Pre-Booking	Maximus Chair CHMXCH	1	\$452.77	\$452.7
	MVP Side Chair	4	\$166.00	\$664.0
	Miller Executive Desk - OFMLEDL1R1AK1	1	\$792.00	\$792.0
D1275	36"x72" Table - OF8183672CONF Color "Stone"	1	\$448.33	\$448.3
Interview	MVP Side Chair	4	\$166.00	\$664.00
	96"L x 60"W x 64"H Station no File Cabinet	1	\$2,158.06	\$2,158.06
D1276 Staff 2	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60"W x 64"H Station no File Cabinet	1	\$2,158.06	\$2,158.06
D1277 Staff 3	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00
	96"L x 60"W x 64"H Station no File Cabinet	1	\$2,158.06	\$2,158.06
D1278 Staff 4	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	3	\$166.00	\$498.00

	Grand 7	otal	\$58,88	C FO
Clothing Storage	48"x30"x75" Open Shelving - MFMSOS48307506	4	\$288.00	\$1,152.0
D1300	36"x30"x75" Open Shelving - MFMSOS36307506	3	\$206.00	\$618.0
D1297 Clothes	36" L x 12" W x ?" H Storage Shelves	7	\$138.00	\$966.0
Staff	Maximus Chair CHMXCH	3	\$452.77	\$1,358.3
D1292	Miller Single Pedestal Desk - Color "Stone"	3	\$585.00	\$1,755.
Interview	MVP Side Chair	2	\$166.00	\$332.
D1289	Miller Single Pedestal Desk - Color "Stone"	1	\$585.00	\$585
Waiting	Maximus Chair CHMXCH	2	\$452.77	\$905
D1287	Supervisors Work Desk 96" x 36"	1	\$940.76	\$940
Interview	MVP Side Chair	2	\$166.00	\$332
D1285	Miller Single Pedestal Desk - Color "Stone"	1	\$585.00	\$585
Storage	36" L x 12" W x ?" H Storage Shelves	24	\$138.00	\$3,312
D1282 Storage	48" L x 18" W x 75" H Storage Shelves	5	\$220.00	\$1,100
DIEAK KOOM	42" Single Pedestal Wood Base Table - OFOTSPRD425	1	\$213.40	\$213
D1271 Break Room	MVP Side Chair	4	\$166.00	\$66
	42" Single Pedestal Wood Base Table - OFOTSPRD425	1	\$213.40	\$21
D1279 Director	MVP Side Chair	7	\$166.00	\$1,16
	Maximus Chair CHMXCH	1	\$452.77	\$45
	96"L x 60"W x 64"H Station no File Cabinet	1	\$2,158.06	\$2,15

Tulsa Board of County Commissioners

E201.4 1st Floor Housing B - Direct Purchase

Price Breakdown by Office

Office Number	Furniture	Otv	Cost Fool	0
D1310		Qty.	Cost Each	Cost Total
Nurse	Maximus Chair CHMXCH	1	\$452.77	\$452.77
D1317 Record	18" x 48" x 75" Open Shelving - MFMSOS48187506	5	\$220.00	\$1,100.00
D1316 Interview	MVP Side Chair	4	\$166.00	\$664.00
interview	42" Single Pedestal Wood Base Table - OFOTSPRD425	1	\$213.40	\$213.40
D1327	18" x 48" x 75" Open Shelving - MFMSOS48187506	4	\$220.00	\$880.00
Dry Storage	18"x36"x75" Open Shelving - MFMSOS36187506	4	\$160.00	\$640.00
D4324	96" L x 60" W x 64" H Work Station	1	\$2,498.33	\$2,498.33
D1331 Office	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	1	\$166.00	\$166.00
D1332 Janitor	18"x36"x75" Open Shelving - MFMSOS36187506	4	\$160.00	\$640.00
D1333	MVP Side Chair	4	\$166.00	\$664.00
Break	42" Single Pedestal Wood Base Table - OFOTSPRD425	1	\$213.40	\$213.40
D1337 General Storage	18" x 48" x 75" Open Shelving - MFMSOS48187506	40	\$220.00	\$8,800.00

Grand Total \$17,384.67

Tulsa Board of County Commissioners

E202.1 2nd Floor Court A - Direct Purchase

Price Breakdown by Office

Office Number	Furniture	Qty.	Cost Each	Cost Total
C2015	MVP Task Chair	10	\$158.00	
Conference Room	Delta Conference Table 96"x48" - OFDTTB48965	1	\$720.82	\$720.82
	President's Desk with Delta Edge	1	\$1,053.00	\$1,053.00
	Heritage Lawyers Cabinet - OFHTLC4D8	2	\$563.00	\$1,126.00
D2089 Judge Chamber	Heritage End Table with Delta Edge	1	\$150.00	\$150.00
	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	2	\$166.00	\$332.00
D2092 Open Office	Maximus Chair CHMXCH	4	\$452.77	\$1,811.08
	President's Desk with Delta Edge - Mahogany with black inlay	1	\$1,053.00	\$1,053.00
	Delta President's Kneehole Credenza - Mahogany with black inlay	1	\$1,059.37	\$1,059.37
	Delta President's Credenza Hutch - Mahogany with black inlay	1	\$677.13	\$677.13
D2095 Judge Chamber	Heritage Lawyers Cabinet - Mahogany with black inlay	2	\$563.00	\$1,126.00
	Heritage End Table with Delta Edge - Mahogany with black inlay	1	\$150.00	\$150.00
	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	2	\$166.00	\$332.00
D2098 Open Office	Maximus Chair CHMXCH	4	\$452.77	\$1,811.08

	Drawit of D. L.			
	President's Desk with Delta Edge - Mahogany with black inlay	1	\$1,053.00	\$1,053.0
	Delta President's Kneehole Credenza - Mahogany with black inlay	1	\$1,059.37	\$1,059.3
	Delta President's Credenza Hutch OFHTPHB15	1	\$677.13	\$677.1
	Delta President's Kneehole Credenza OFHTPKL4RAk5	1	\$1,059.37	\$1,059.3
D2101 Judge Chamber	Delta President's Credenza Hutch OFHTPHB15	1	\$677.13	\$677.1
	Heritage Lawyers Cabinet - OFHTLC4D8	2	\$563.00	\$1,126.0
	Heritage End Table with Delta Edge	1	\$150.00	\$150.0
	Maximus Chair CHMXCH	1	\$452.77	\$452.7
	MVP Side Chair	2	\$166.00	\$332.0
D2104 Open Office	Maximus Chair CHMXCH	4	\$452.77	\$1,811.0
	President's Desk with Delta Edge	1	\$1,053.00	\$1,053.00
	Delta President's Kneehole Credenza OFHTPKL4RAk5	1	\$1,059.37	\$1,059.37
	Delta President's Credenza Hutch OFHTPHB15	1	\$677.13	\$677.13
D2107 Judge Chamber	Heritage Lawyers Cabinet - OFHTLC4D8	2	\$563.00	\$1,126.00
	Heritage End Table with Delta Edge	1	\$150.00	\$150.00
	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	2	\$166.00	\$332.00
D2110 Open Office	Maximus Chair CHMXCH	4	\$452.77	\$1,811.08
D2117	MVP Side Chair	5	\$166.00	\$830.00
Invterview	36"x72" Table - OF8183672CONF	1	\$448.33	\$448.33
D2119	MVP Side Chair	5	\$166.00	\$830.00
Invterview	36"x72" Table - OF8183672CONF	1	\$448.33	\$448.33
C2164	MVP Task Chair	4	\$158.00	\$632.00
Work Room	24" x 96" Table - OF8182496CONF	1	\$491.67	\$491.67

D2125 Invterview	MVP Side Chair	5	\$166.00	\$830.00
	36"x72" Table - OF8183672CONF	1	\$448.33	\$448.33
D2127	MVP Side Chair	5	\$166.00	\$830.00
Invterview	36"x72" Table - OF8183672CONF	1	\$448.33	\$448.33
D2128	MVP Side Chair	5	\$166.00	\$830.00
Invterview	36"x72" Table - OF8183672CONF	1	\$448.33	\$448.33
D2130	MVP Side Chair	5	\$166.00	\$830.00
Invterview	36"x72" Table - OF8183672CONF	1	\$448.33	\$448.33

Grand Total \$37,739.87

Tulsa Board of County Commissioners

E202.2 2nd Floor Court B - Direct Purchase

Drico	Prop	leal =	1	000
Price	brea	kdown	bv	Office

Office Number	Furniture	Qty.	Cost Each	Cost Total
C2036	MVP Task Chair	12	\$158.00	
Deliberation Room 1	Delta Conference Table 96"x48" - OFDTTB48965	1	\$720.82	\$720.82
C2034	Miller Single Pedestal Desk - OFMLSPLFAK1	1	\$595.00	\$595.00
Baliff	Maximus Chair - CHMXCH	1	\$452.77	\$452.77
C2037	MVP Task Chair	12	\$158.00	\$1,896.00
Deliberation Room 2	Delta Conference Table 96"x48" - OFDTTB48965	1	\$720.82	\$720.82
C2039	Miller Single Pedestal Desk - OFMLSPLFAK1	1	\$595.00	\$595.00
Baliff	Maximus Chair - CHMXCH	1	\$452.77	\$452.77
C2042	Miller Single Pedestal Desk - OFMLSPLFAK1	1	\$595.00	\$595.00
Baliff	Maximus Chair - CHMXCH	1	\$452.77	\$452.77
C2044	MVP Task Chair	12	\$158.00	\$1,896.00
Deliberation Room 3	со	1	\$720.82	\$720.82
C2045	MVP Task Chair	12	\$158.00	\$1,896.00
Deliberation Room 4	Delta Conference Table 96"x48" - OFDTTB48965	1	\$720.82	\$720.82
C2047	Miller Single Pedestal Desk - OFMLSPLFAK1	1	\$595.00	\$595.00
Baliff	Maximus Chair - CHMXCH	1	\$452.77	\$452.77
C2056	Delta Conference Table 96"x48" - OFDTTB48965	1	\$720.82	\$720.82
Mediation	MVP Task Chair	12	\$158.00	\$1,896.00
C2057	MVP Side Chair	6	\$166.00	\$996.00
Mediation Meeting	72" x 36" Detla Table - OFDTTB36725	1	\$549.69	\$549.69

C2058	96"L x 60" W x 64"H Station	1	\$2,498.33	\$2,498.3
Office	Maximus Chair CHMXCH	1	\$452.77	\$452.7
	MVP Side Chair	3	\$166.00	\$498.0
C2059	MVP Side Chair	12	\$166.00	\$1,992.00
Mediation Meeting	Heritage Conference Table 144"x48" - OFHTCF48125	1	\$915.00	\$915.00
C2062	MVP Side Chair	4	\$166.00	\$664.00
Mediation Meeting	72" x 36" Detla Table - OFDTTB36725	1	\$549.69	\$549.69
C2063	MVP Side Chair	4	\$166.00	\$664.00
Forensic Interview	72" x 36" Detla Table - OFDTTB36725	1	\$549.69	\$549.69
C2064 Interview	Miller Single Pedestal Desk - OFMLSPLFAK1	1	\$585.00	\$585.00
Observation	MVP Task Chair	1	\$158.00	\$158.00
C2073	MPV Task Chair	24	\$158.00	\$3,792.00
Staff Work	36"x60" Double Pedestal Table - CGOTDT3660CS1	12	\$166.00	\$1,992.00
D2079 Open Office	Maximus Chair CHMXCH	4	\$452.77	\$1,811.08
D2085 Open Office	Maximus Chair CHMXCH	4	\$452.77	\$1,811.08
C2137	MVP Side Chair	4	\$166.00	\$664.00
Interview	36"x72" Table - OF8183672CONF	1	\$448.33	\$448.33
C2139	MVP Side Chair	4	\$166.00	\$664.00
Interview	36"x72" Table - OF8183672CONF	1	\$448.33	\$448.33
C2140	MVP Side Chair	4	\$166.00	\$664.00
Interview	36"x72" Table - OF8183672CONF	1	\$448.33	\$448.33
C2142	MVP Side Chair	4	\$166.00	\$664.00
Interview	36"x72" Table - OF8183672CONF	1	\$448.33	\$448.33
C2153	MVP Task Chair	4	\$158.00	\$632.00
Work Room	24" x 96" Table - OF8182496CONF	1	\$491.67	\$491.67

C2149 Interview	MVP Side Chair	4	\$166.00	\$664.00
	36"x72" Table - OF8183672CONF	1	\$448.33	\$448.33
C2151 Interview	MVP Side Chair	4	\$166.00	\$664.00
	36"x72" Table - OF8183672CONF	1	\$448.33	\$448.33
D2076 Judge Chamber	President's Desk with Delta Edge	1	\$1,053.00	\$1,053.00
	Delta President's Kneehole Credenza OFHTPKL4RAk5	1	\$1,059.37	\$1,059.37
	Delta President's Credenza Hutch OFHTPHB15	1	\$677.13	\$677.13
	Heritage Lawyers Cabinet - OFHTLC4D8	2	\$563.00	\$1,126.00
	Heritage End Table with Delta Edge	1	\$150.00	\$150.00
	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	2	\$166.00	\$332.00
D2082 Judge Chamber	President's Desk with Delta Edge	1	\$1,053.00	\$1,053.00
	Delta President's Kneehole Credenza OFHTPKL4RAk5	1	\$1,059.37	\$1,059.37
	Delta President's Credenza Hutch OFHTPHB15	1	\$677.13	\$677.13
	Heritage Lawyers Cabinet - OFHTLC4D8	2	\$563.00	\$1,126.00
	Heritage End Table with Delta Edge	1	\$150.00	\$150.00
	Maximus Chair CHMXCH	1	\$452.77	\$452.77
	MVP Side Chair	2	\$166.00	\$332.00

Grand Total \$55,251.70